0 @) 3)
Total Current  Arrears
Y1 Treatment (1) 0.109 0.085 0.128
(0.038) (0.040) (0.100)
[0.003] [0.020] [0.200]
Y2 Treatment (S32) 0.081 0.055 -0.074
(0.043) (0.041) (0.119)
[0.064] [0.235] [0.592]
Y1 AND Y2 Treatment (83) -0.150 -0.085 -0.061
(0.067) (0.068) (0.178)
[0.014] [0.203] [0.733]
N 403 403 392
B1 = B2 0.564 0.560 0.167
B1+B3=0 0.401 0.999 0.655
Mean growth in controls 0.309 0.408 -0.337

Notes: OLS regessions of log of tax revenue on Y1/Y2 treat-
ment interactions The unit of observation is a circle, as defined
at the time of randomization. Specification controls for baseline
values. Robust standard errors in parentheses. Standard errors
are clustered by circle. Randomization inference based p-values
in brackets. RI p-values displayed for tests of equality of coeffi-

cients.



